tEEEATIV7ZIEE-BAISE] gremz

20245 6A% MEEFREE@OSHMSE MBI LRSI —

TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.53|M/kWh
HAEEDEE Biad 3.44|M/kWh
(1) BRE BR 2E Bl = (2R BHEi4% — 37,200 ) x BB {fi 1,000 = EBEDGE 3.53|A/kWh
2024418 ~2024F3 A LH D E S aHilts HAlBEDNEZE 3.44|FM/kWh
A: 1KY O FH R im g 77911 A o: 0.4699
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.0000 = EE A Bl 0.189 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 0.7879 FERl = R A 2 B Aiff 0.184 [

EHREMER = Axa +Bx S8 + VX ¥y = 55900 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 10.69
B: ETAREEEM (Fik) 8.00
C: BANFAEELE I (Fiik) 18.00

Uk
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TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.79|M/kWh
HAEEDEE i 4.64|/kWh
(1) BR B B 2 Bl = (29 BHEi4% — 31,400M) x BB {fi 1,000 = EBEDGE 4.79|F/kWh
2024418 ~2024F3 A LH D E S aHilts HAlBEDNEZE 4.64]F9/kWh
A: 1KY O FH R im g 77911 A o: 0.1152
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.2714 = EE A Bl 0213 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 0.7386 FERl = R A 2 B Aiff 0.206 M

EHREMER = Axa +Bx S8 +VXxy = 53900 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 10.60
B: ETAREEEM (Fik) 7.00
C: BANFAEELE I (Fiik) 14.00

Uk
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20245 6A% MEEFREE@OSHMSE MBI LRSI —

TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.75|M/kWh
HAEEDEE i 4.69|M/kwWh
(1) PR B R B Bl = (2R BHEI4% — 44,200 ) x BB {fi 1,000 = EBEDGE 4.75|F/kWh
2024418 ~2024F3 A LH D E S aHilts HAlBEDNEZE 4.69|F9/kWh
A: 1KY O FH R im g 77911 A o: 0.1970
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.4435 = EE A Bl 0.224 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 0.2512 FERl = R A 2 B Aiff 0.221 [

EHREMER = Axa +Bx S8 + VX 7y = 65400 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 11.26
B: ETAREEEM (Fik) 7.00
C: BANFAEELE I (Fiik) 14.00

Uk
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20245 6A% MEEFREE@OSHMSE MBI LRSI —

TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.17|M/kWh
HAEEDEE Biad 3.12|M/kWh
(1) BR B B 2 Bl = (29 R BHEi4% — 45,900 ) x BB {fi 1,000 = EBEDGE 3.17|A/kWh
2024418 ~2024F3 A LH D E S aHilts HAlBEDNEZE 3.12|FM/kWh
A: 1KY O FH R im g 77911 A o: 0.0275
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.4792 = EE A Bl 0.223 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 0.4275 FERl = R A 2 B Aiff 0.220 /M

EHREMER = Axa +Bx S8 + VX 7y = 60,100 M (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 9.42
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk
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TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 3.65|M/kWh
HAEEDEE i 3.60|/kWh
(1) PR R 2 Bl = (2R BHE4% — 21,900 ) x BB {fi 1,000 = EBEDGE 3.65|F/kWh
2024418 ~2024F3 A LH D E S aHilts HAlBEDNEZE 3.60|F/kWh
A: 1KY O FH R im g 77911 A o: 0.2303
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.0000 = EE A Bl 0.152 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 1.1441 FERl = R A 2 B Aiff 0.150

EHREMER = Axa +Bx S8 + VX 7y = 45900 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 8.41
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk
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TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.14|M/kWh
HAEEDEE i 4.09|M/kWh
(1) BARE ER B Bl = (29 BHEI4% —27,100M) x BB {fi 1,000 = EBEDGE 4.14|F/kWh
202441 A ~2024F3 A T D & Hfftat il HAlBEDNEZE 4.09]F4/kWh
A: 1KY O FH R im g 77911 A o: 0.0140
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.3483 = EE A Bl 0.158 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 0.7227 FERl = R A 2 B Aiff 0.156

EHREMER = Axa +Bx S8 +VXxy = 53300 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 8.40
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk
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TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 5.38|M/kWh
HAEEDEE Biad 5.22|M/kWh
(1) BR B B 2 Bl = (29 BHEi4% — 26,000 ) x BB {fi 1,000 = EBEDGE 5.38|F/kWh
2024418 ~2024F3 A LH D E S aHilts HAlBEDNEZE 5.22|FM/kWh
A: 1KY O FH R im g 77911 A o: 0.1543
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.1322 = EE A Bl 0.234 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 0.9761 FERl = R A 2 B Aiff 0.227 M

EHREMER = Axa +Bx S8 + VX 7y = 49,000 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 8.40
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk
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TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

anj
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 4.06|M/kWh
HAEEDEE i 3.95|M/kWh
(1) BR B B 2 Bl = (29 BHEi4% — 26,000 ) x BB {fi 1,000 = EBEDGE 4.06|F/kWh
202441 A ~2024F3 A T D & Hfftat il HAlBEDNEZE 3.95|F/kWh
A: 1KY O FH R im g 77911 A o: 0.2104
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.0541 = EE A Bl 0.188 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 1.0588 FERl = R A 2 B Aiff 0.183 [

EHREMER = Axa +Bx S8 + VX 7y = 47,600 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 8.13
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk
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TRERHOSHREBDY . E@ALBLEFFS,
BHOBEHS[CBENIMHBRSREETE . TROBYSHOELET,

KB X, B IRICRAIES I E (B ERDBURE D HESF(EHA0.90F/kWh) Z A & FH B E M S
[E5IET 5D TIEFAL AMIERICTESIZZITHhE TWEET,

onji
cu

PAM B SRR =R ERBEME +QEENRAREM

=SEDEE BiaA 2.30|M/kWh
HAEEDEE Biad 2.27|M/kWh
(1) BRR B B 2 Bl = (2R BHEi4% — 27,400M) x B #EB{fi 1,000 = EBEDGE 2.30|F4/kWh
2024418 ~2024F3 A LH D E S aHilts HAlBEDNEZE 2.27|FM/kWh
A: 1KY O FH R im g 77911 A o: 0.0053
B: 1t&H7=Y D FHLNGHHHE 99,090 [ B: 0.1861 = EE A Bl 0.130 M
C: 1tdH1=Y DFH A HEifi& 24434 [ 7 1.0757 FERl = R A 2 B Aiff 0.128 [

EHREMER = Axa +Bx S8 + VX 7y = 45100 H (100 REEERAN)

(2) MENREEM=A<BDGE., HIENHABEM=(A—B) x50 x (1 +HHEHE) = 0.00JF4/kWh
ASCOIHE ., HENFEBEM=(A—C)x50% X (1 +HEREK) = 0.00JF4/kWh
A: BTADTYT7 IS4 REHIE (Fiik) 8.19
B: ETAREEEM (Fik) 5.00
C: BANFAEELE I (Fiik) 13.00

Uk



